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An Efficient Similar Segment Search Algorithm in Multiple Time Series

MASAHIDE SUGIYAMAT!

This paper formulates a similar segment search problem in multiple time series of the fea-
ture vectors and proves that skip region for rejection/detection is equal to a hyper diamond
shape (¢1 ball) in the time index space and the upper bound of the ball radius is derived. In
order to solve the search problem, this paper proposes a new algorithm: RDDS (Recursive
Diamond Division Search), and implemented and evaluated RDDS in two and three time
series problem. The experiment results show that RDDS runs about 163 times faster than
repeated AS algorithm in two time series and 4.910 x 10° times faster than the exhaustive
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search algorithm in three time series.
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Fig.2 RIFAS algorithm and its skip region.
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Table 1 Setup of search experiments.
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